DT -

AALLEL LR

NN
N N N
ALLLLTTILLL

AL VL S

WD. BLKG. REQD.

1» 1 e
LY - | =4 _‘>|14 ——7"X7" PLATE J
,F /yw PO ﬂlm 1 1” ! 3/8” THK i y
:x 1/2°¢X4” LAG BOLT e s y O . ——(4) 1/27¢x4” [

(OR THRU. BOLT) ALUM 4°X3°X3/8" THK. PLATE AG BOLTS ~
| - WELDED TO C—CHANNLE (TYP. ’ '
NN 6063—T5 3/16 L S.S. CLEVIS W/ {

DOWNSPOUT IF REQD. DECK | A g , [
| BY OTHERS 3/32” THK. 27— = 2 Bg){TQ ?c XNL}T [
| ” _/‘7 |

3/4"% GALV. , '
: HANGER PIPE | 1 Rl '
| "
| 1/4"@X3 /4 =/ : .
| /TEK SCREW | L}N3/4”¢ GALV. f

, HANGER PIPE '
: 3C GéhXNl\Slgt | NOTES: UNLESS OTHERWSE SPECIFIED. f

- . ’ | 3-8" —FRAME: 8" FASCIA — STYLE "J” {
| 1/8"7 THK. ol ALUM. 6063-T5, 1/8” THK., 3" GALV. 1/2°9¢X4” LAG BOLTS f
| | et e (0R THRU. BOLTS) ;
| 1/47 THK. W/ | —FINISH: POWDER COAT FINISH—RAL 8014.
| (4) 3/8"8 X 17 | —COLOR: TO BE SELECTED BY ARCH. )
| BOLTS & NUTS | —HANGER ROD & ATTACHMENT HARDWARE —6
_ N\ L SHALL BE GALVANIZED / ZINC PLATED.

: 3n><3n><1/8n THK. 2@% legel | —ALL DIMENSIONS: VERIFY IN FIELD.

PLATE WELDED TO | . - w ) N
| C— CHANNEL - | ANGLE CLIP 8 FASCIA — STYLE ”J 1 ¢
| : | 1/4” THK. W/ ALUM. 6063—T5, 1/8" THK. BN /
| ALUM. 6063—T5 —|=3/4 | (B@LTBS/%Z%UTS 3"X4"X3/8" THK. PLATE -y il
sty e ?/8F”A?SKA T >| T > | 1/470X3 /4" TEK ) L
: ’ ‘ —11/2 | 33— SCREWS @ 3'—0" MAX.

L : | / £45° 3" GALV. STL. - il

———————————— —/ /*—— - 4} i C—CHANNEL 1/8" THK.
> 5 gy [ D ” —R54" 1, ALUM. 6063—T5 o e I

® ad_canoey < —
T | e (1 N

=] S M M

1/4 ¢'X1 TEK SCREW ” ” "".\'»’ f

7 11/4 51/2 —4 i (I I

3" GALV. STL. 2" / [e) / @) )
C—CHANNEL 8

: 1/4°8X1” BOLT & g g ! B i

\ NUT @ 3'—0" MAX. 1n B 14
©o~—1/2”¢ X 47 8" 7 S |

\ LAG BOLTS 11" Y

:: 3"X4"X3/8" PLATE ’0 ) =+

#10 X 3/4” 6" >‘ / _24' !

TEK SCREWS _B_()_ QAN()_Pi i v‘:v'f !:'

+7'-8" AFF. 10X3/4” TEK— 1/4°9X1” BOLT & NUT—/ - |

"\ ALUM. 6063—T5 DECK, 3/32" THK ’éCREV{S’ VP /7 T @ 30" MAX. CLOSED @ ENDS

8” FASCIA — STYLE "J” 36 = | J

! CLOSE @ ENDS
_——DOWNSPOUT IF REQD.

SECTION DE TAIL

BY OTHERS

”
~—

W

A

() SECTION CANOPY

DOWNSPOUT IF
REQD., BY OTHERS

v

BY OTHERS
INC.

B & C AWNING,

3082 EAST MIRALOMA AVE.
ANAHEIM, CA 92806

TEL: (714) 632—-3303
FAX: (714)632—5632

JOB NAME: CITY OF RIPON CITY HALL & POLICE DATE:

25169 259 N. WILMA AVE. — /= /-
RIPON, CA

CONSTRUCTOR: ACME CONSTRUCTION SHEET NO.: _/_

ALSO AGREES CLAIMS AGAINST B & C AWNINGS INC.

THESE SHOP DRAWINGS ARE PRESENTED IN ORDER TO MORE PERFECTLY AGREE, THEY DEFINE IN DETAIL
B & C AWNINGS SCOPE OF WORK, THEY BECOME THE FINAL DEFINITIVE AGREEMENT, COMPLETE INVENTORY
OF WHAT BUYER/AGENT/CONTRACTOR AGREES TO BUY, SUPERSEDE ALL PLANS,
APPROVAL DATE. IN APPROVING/ STAMPING THESE DRAWINGS AGENT/BUYER AGREES TO ABOVE STATEMENTS
THEIR HEIRS AND ASSIGNEES TO INDEMNIFY AGENT/
CONTRACTOR, PAY ATTORNEY FEES OR DEFEND AGAINST LEGAL ACTIONS ASSOCIATED OR EMANATING THERE
FROM IS LIMITED TO THE WARRANTY PERIOD PROVIDED HEREIN,
ADDRESSED IN THE ORANGE COUNTY COURT JURISDICTION AS FORUM.

SPECIFICATIONS PRIOR TO

FUTURE UNRESOLVED DISPUTES BEING



	Layout1

